GCSE Mathematics

Practice Tests: Set 1B
Paper 3H (Calculator)

Time: 45 minutes

You should have: Ruler graduated in centimetres and millimetres, protractor, pair of compasses, pen, HB pencil, eraser, calculator.

Instructions

· Use black ink or ball-point pen. 

· Fill in the boxes at the top of this page with your name,
centre number and candidate number. 

· [image: image1.emf]Answer all questions. 

· Answer the questions in the spaces provided

– there may be more space than you need. 

· Calculators may be be used.

· Diagrams are NOT accurately drawn, unless otherwise indicated.

· You must show all your working out.
Information

· The total mark for this paper is 40 

· The marks for each question are shown in brackets
– use this as a guide as to how much time to spend on each question. 

Advice

· Read each question carefully before you start to answer it. 

· Keep an eye on the time.

· Try to answer every question. 

· Check your answers if you have time at the end.

Answer ALL questions.

Write your answers in the spaces provided.

You must write down all the stages in your working.

1.


[image: image6.emf]
BPCD is a straight line.

BA is parallel to CQ.

AP is perpendicular to BC.

Angle ABC = 54(
Angle ACQ = 76(
Work out the size of the angle marked x.

Give reasons for your answer.

(Total 4 marks)
2. 
Jenny is organising a party.

She buys some paper plates and some plastic cups.

Paper plates are sold in packs.

There are 25 plates in a pack.

Each pack costs 78p.

Plastic cups are sold in packs.

There are 35 cups in a pack.

Each pack costs £1.10

Jenny buys exactly the same number of plates and cups.

What is the least amount of money she pays?

£ ..............................................................

(Total 5 marks)

___________________________________________________________________________
3.
The table shows some information about the average adult spending in 2008 as a percentage of average total adult spending in 2008.

	Item
	Percentage

	food
	11%

	housing
	11%

	leisure
	13%

	clothes
	  5%

	transport
	14%

	household goods
	8%

	other items
	38%


In May 2008, Katie spent a total of £425.

She spent £48.45 of the £425 on food.

Compare the percentage that Katie spent on food with the average adult spending on food.

(Total 3 marks)
___________________________________________________________________________

4.
Ali was asked to solve the equation   6x – 2 = 3(x + 4)

Here is his working.







6x – 2 = 3(x + 4) 






6x – 2 = 3x + 7






      6x = 3x + 9






        3x = 9






          x = 3


Asif's answer is wrong.


What mistake did he make?


......................................................................................................................................................


......................................................................................................................................................

 (Total 1 mark)

___________________________________________________________________________

5.
Andy invests £12 000 in a variable rate compound interest account.

The interest is


2% for the first year


3.5% for the second year


5% for the third year

(b) 
Work out the value of Andy’s investment at the end of 3 years.

£..............................................
(Total 2 marks)
___________________________________________________________________________

6. 
A rectangular lawn has a length of 3x metres and a width of 2x metres.
The lawn has a path of width 1 metre on three of its sides.

[image: image2.emf]
The total area of the lawn and the path is 100 m2.
(a)
Show that 6x2 + 7x – 98 = 0
(2)

(b)
Calculate the area of the lawn.

Show clear algebraic working.
................................ m2
(5)

(Total 7 marks)

___________________________________________________________________________
7.
In a sale, normal prices are reduced by 12%.

The sale price of a digital camera is £132.88

Work out the normal price of the digital camera.

£ ................................

(Total 3 marks)

___________________________________________________________________________

8.

[image: image3.emf]
The diagram shows a tetrahedron.

AD is perpendicular to both AB and AC.

AB = 10 cm.

AC = 8 cm.

AD = 5 cm.

Angle BAC = 90°.

Calculate the size of angle BDC.

Give your answer correct to 1 decimal place.

.....................................°

 (Total 6 marks)

___________________________________________________________________________

9.
A machine part is made by cutting a small square from the centre of a large square piece of steel.

The dimensions of the machine part are shown on the diagram.

All measurements are in cm.
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The perimeter of the small square is two thirds of the perimeter of the large square.

Work out the length of a side of the small square.

.............................................................. cm

(Total 5 marks)

___________________________________________________________________________

10. 
A car is approaching a set of traffic lights.

The traffic lights turn red.

It takes the car 4 seconds to slow down to a stop.


Here is the speed-time graph for the 5 seconds until the car stops.
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(a)
Work out an estimate for the distance the car travels in these 5 seconds.
……………………………. m
(3)

(b) Is your answer to (a) an underestimate or an overestimate of the actual distance the car travels in these 5 seconds?


Give a reason for your answer.


..……………………………………………………………………………………………









.……………………………………………………………………………………………
(1)
(Total 4 marks)
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